Lecture 11

Thursday, May 16, 2024 3:01 PM

$$f(x_{1}y) = \frac{\sin(x^{2} + y^{2})}{3x^{2} + 2y^{2}} + \lim_{(x_{1}y) \to (0,0)} DNE \qquad (m = \frac{1}{2})$$

$$F_{2} = \frac{\sin(x^{2} + y^{2})}{3x^{2} + 3y^{2}} + \lim_{(x_{1}y) \to (0,0)} f(x_{1}y) = \frac{1}{3}$$

$$F_{2} = \frac{\sin(x^{2} + y^{2})}{3x^{2} + 3y^{2}} + \lim_{(x_{1}y) \to (0,0)} f(x_{1}y) = \frac{1}{3}$$

$$f(\lambda, y) = \frac{x^{2}}{x^{2} - y^{2}} \quad 1 \quad \lim_{(\lambda, y) \to (0, 0)} f(x, y) \quad DWE$$

Note: l'Hospitul rule may coorte for multivariable function, but it is subtle. Don't use it unless you understand its rule (see the supplement paper by Garg Lawlor of BYM)

$$\underbrace{\operatorname{En}}_{(k_{1}g) \to (0,0)} \frac{x^{2}g}{x^{2}+g^{2}} = 0 \quad (\operatorname{squecze} \ \operatorname{thm}) \\ \underset{(k_{1}g) \to (0,0)}{\operatorname{lin}} \frac{e^{2}-e^{2}}{x-3} = ? \\ \underset{(k_{1}g) \to (1,1)}{\operatorname{lin}} \frac{e^{2}-e^{2}}{x-3} = ? \\ \operatorname{Recall} \ \operatorname{the} \ \operatorname{mean} \ \operatorname{value} \ \operatorname{thm} : e^{2}-e^{2} = e^{2}(x-y) \quad \text{where } e^{-is} \\ \operatorname{between} \ x \ \operatorname{and} y. \\ \underbrace{e^{2}-e^{2}}_{x-3} = e^{i} \longrightarrow e^{i} = e^{-is} \quad \operatorname{as} \ (x,y) \longrightarrow (1,1). \\ \times \operatorname{Contribuirty} \ of \ a \ \operatorname{sund} m$$